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1. This paper contains 25 questions of 2 marks each.
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ILLUSTRATION SET / ®lgr&Ior HAg

e 9oR & wea mus wdan & BN 390 wEEfld o Teal F 3ERor F w9 A g8 A
TEa fFaT T §1 3 g el F eaegds 3R sk wAfee e F¥ gw frar o

Below are given examples of the type of questions that you will find in the test. Now,
look at these examples carefully and understand how they are solved.

A. dig 3Rl &1 U FHTEA(de) foar A § Sad @ IS AR AHIAT Th FAS 0T & IR
W YT Ueh g olel § 3R U Feet &1 Ul Ig AT A&l § foh 307 @ @l €@ i 307
IR At & et &

There are five sets of figures in which 4 share a common property and make a group whereas

one of them is different. Find out which figure is different from the other four.

X D] |26

A B C D E

gl FW & T gl 3pfadt AB,C,D @ E A A% ki ‘B’ 1 oI5 @l anehfaat & ar
Frel fSeg @F a0 & safav Ig @t veh a9 § qeftd g1 Siefeh 3pfd ‘B & IS Hrell g El &
3 faehed ‘B’ HEl 3T &, Silich 3T arel @iel # forer I g

Out of the above figures A, B, C, D & E except figure ‘B’ all figures have two black
dots in the figure and thus form one group. Figure ‘B’ stands out as it does not have any
black dot in it. So, the right answer is ‘B’ which is written in the answer box.

B
Answer is

3 z@Y T A WY yar WEAT WX IMUIRT w2 UH AN NfF A T F @A B
mﬁﬁmmaﬁﬁmgﬁ;wmmwm&mwmwmﬁl



In a similar manner you may be asked to choose the set of alphabets or number which
differ from their group. Try to understand the logic how they are grouped and solve the

problem.

B. A $T TN Uk Fafeyd A # vh ARGd J@er & &9 & & =0 § AT 3a7 d vh
TEar g g Bl A ol aIw fadedt A @ IO 38 UH fAhed H GeAAT EET SAfH 3@ AT F
R HEM

Given below, some numbers are arranged in a particular sequence but one of the

number is missing. Find the missing number from the given choices to complete the series.

11 21 31 41

(A) 42 (B) 51 (C) 61 (D) 71 (E) 60

I & I G H Ugel HEAT § gH{ FEAT & o GH P FH Heck ¢ AT el &
I R §U ReFd T X 51 Fir Fear 3nwh| dd: Fehed B’ T 3R & A 30 a @ A
forar T &

In the above series, there is a gap of ten numbers between the first number and the
second consecutive number. To continue the series, the missing number would be 51.
Therefore choice ‘B’ is the correct answer to be written in the answer box.

Answer is

&% st ¥ A wenst, Rt Iryar Al & AT HEer Y @ FA qS T AIR I S0,
B B3 ¥ [wedt & & Pt oF F gaar gom meR TR HEer F GHEF THET F
HHATETA FHIAT oM

In a similar manner you may be asked to choose the set of given options to
complete the series for alphabets or figures. You have to grasp the sequence logic and

solve the given problems.




C.  3Mpfd ‘A’ dur ‘B & 39H H S ey g, 8% d@ GFaey (T ‘C’ dur ‘D’ F &
TYMOT FIA §T 3MPfa ‘D’ (Feearash fOeg) & ¥ R &F aw fFhedt 1, 2, 3, 4 # & Fia &
3epfe 3T

Figures ‘A’ and ‘B’ have a particular relationship. Establish the similar relationship
between figures ‘C’ and ‘D’ by choosing right figure amongst the four alternatives 1, 2, 3, 4

which would replace the question mark in figure ‘D’.

Cle|0| » 0 2o |

Answer is

‘B’ ST A IHTA S & T A dierd A & I 3epfa gt Hr faudid fewr 7 90° W g
St &1 8k 38T YR ‘C’ dlerd # &1 IS JThid @ Sy faodia feem & 90° W gAR S ar D’
SToFE T JThIA T STl 37T 3Mepid 4 FHeAT 3R g Siifeh 3R arel @il # fer@r aram g

Figure of box ‘A’, gets rotated anticlockwise at 90° to form a figure in box ‘B’. Similarly,
figure in box ‘C’ has to be rotated anticlockwise at 90° to form a figure in box ‘D’. Hence,

figure (4) is the answer that is written in the answer box.

D. Igl & 91T yeaT & fashodl A, B, C T D # & Hief & T INHIT FE &7 H X i &7
fAToT HEaf

In the following question, find out which one of the four alternative figures A, B, C and

D will exactly make up the key figure X'

®| [OLo, O |‘|©|:

X A B C D

Answer is




Tgl a1 I |l JHfAAT 1 Haeliehed X W U & o I AT & X RIS H Fol B
Tl A B M A WFRY & T & RS & ¥ AfreT 75 Iy A B o 7 D | I
‘A T8 3§ A IR & @ 7 forar = g

If you join the given fragments of figure ‘A’ it will make up the Figure ‘X’. Though figure
‘B’ also looks like figure ‘A’ but the fragments of figure ‘B’ are smaller in size in comparison to
figure ‘X’. So, the right answer is ‘A’ which is written in the answer box.

E. wa@ﬁwwﬁrﬁaﬁﬁ%mﬁynﬁﬁw,“wmmmaﬁrsﬁ?ﬁ
T ¥ 39 E A 3H Afhd & HY FAT FY g2

Pointing towards a person, a man said to the woman, “His mother is the only daughter of your
father”. How is the women related to that person?

A) Daughter B) Sister C) Mother D) Wife

C

Answer is

39 F@d 1 9 Rar i gwaldh E aqmam | a: q§ =fFq 39 S F1 d@1, @ S 37 FiFT H
AT 8l 3 RFew 'C’ @ 3 &l
The only daughter of a woman’s father is she herself. So, the person is woman’s son i.e. the

woman is the person’s mother. Hence the answer is ‘C’.

F. X 3mpfa & arfeelt @ aR fashed mpfaal A, B, C @ar D & o/t g1 I 39 X’ 3mepfar
@ Ul A S@d § dl 3HHT gfafeed & R AR mhfadl F @ feell T & @EW g, 9§ i
faened 3mehfa g7

On the right side of the figure ‘X’ four choice figures A, B, C and D are given. If you
see the reflection of figure ‘X’ in water, which of the figure out of the four figures given will
resemble the water image of figure ‘X.

X

EX XX

C

Answer is




SIe 39 fohdll a&q @ giafesd el & @d § df 9 3e¢ &9 # fq@rh & §, anfe awq &
FR AT AT A H R @R Sar g1 3d: Tehed ‘C’ T 3 gl

When you see a reflection of an object in water the image formed is inverted i.e. the

object is turned upside down. Thus choice ‘C’ is the correct answer.

G.  Fgl W X e & A Bl X I F gifeelt e TR fRwew ampfaat A, B, C @ur D &
Y 1 AR 3 X 3T A gdr F d@d § A 3 yiafaed & gl uR ampfadt 7 @ R v
& HA N, aF HiT W RAew 3l B

If you see the figure X’ in the mirror, which figure out of the four choice figures will be

the mirror image of figure X’. Write the answer in the answer box.

Mirror

&

X A C D

SI9 & fohell oo &1 gUuT # <@d § o 39 g€ @ 9 TR bl HET gAY R qGT R
R I AL S TG fer@rd ar §1 3d 7 1 307 I §U IS D’ T FW ¢ Sfh 3w
arer @ # fordr g5 ¢

Answer is

When you see something in the mirror the left appears right and right appears left. This way

figure ‘D’ is the right answer and written in the answer box.

H. S f&J 910 37 Sanmd A FE 997 T SanH 3Edid, AYST a7 a9 &1 gfafafca &)

In the following Venn diagram which diagram represents Hospital, Patient and Nurse.




0O @ & @
A B C D

Answer is

A 3R A e §1 et QlAl 3TUdTl & §9 H FAAT @ & 37 I8 ol srame
‘D & @rI yiafafica T o @hd &1 sEmE D’ A #dS & gfdfAfted ga ‘A’ #ar g, 9d ‘B’
A & qUT A ‘C’ IFAATST T GiAART HIAT §1 3 SHHT 3R D’ § Siifeh 3 arel @l # forar
T gl

Patient and nurse are separate but both are related to the hospital. So, they would be
represented by the diagram ‘D’. Circle ‘A’, represents patient circle ‘B’, represents nurse and ‘C’

represents hospital. So the answer is ‘D’ which is written in the answer box.

I. I8l A B, C @ D& &9 # dR 3faar & R 1 g IR Hfaal # & 1S voh pfa gl
e amw X et & 3T B g% &1 R o AT X YeoT & e 39 B g 3B A geen
gl f&F 9w faswedt A, B, C @1 D & & el Ush @@ fashou drell 3Mpfd & Yol 3T o)
grafa @ # ol

Four figures marked A, B, C & D are given. Out of the four figures A, B, C & D one
of the figure is hidden in the figure marked X’. Find the correct option and write the answer in

the answer box.

Figure X
Answer figure ] L] | I ’ 5 ; v
it 1 LA L
A B C D
I— S B —I
| |
The correct answer is A because |- 1 .___.i
LT
Answer is
A
7




7l & I il B, C FUT D & @ 15 o 3mpfal X Yool A I g$ fewrr i & ¥
CEIED ‘A’TE*MWH@%‘X’W?WW?W%WWW%I 3 A 'S
3OX § S 39T gt @ & for@r 3w gl

Out of the four figures, B, C & D does not match with figure ‘X’ whereas figure ‘A’

matches. ‘A’ is the right answer and written in the answer box.

J. Eﬁﬁa’r%awfrrﬁ?ﬂw%,wﬂ?aﬁw;ﬁﬁ@rwwmwgm%‘}ﬁ?‘?’ﬁﬁm
&1 T der g A & I AR Ahew Ipfadt A, B, C T D & § FIg Th g1 IR T ITHA
arel fashed &l YT FR ToIEel ¢, f5ad g f8siige QI af S|

In the figure given below a portion of the design is cut and marked by ‘?’. Cut design
is placed among the other choices A, B, C and D. Write the choice of the correct figure, which

will complete the design.

O
@)
? O
O
A B C D
C
Answer is

Ife gA QU av AfAwey (3argen) A @ o Tuse glar § f& fasheq ‘C’ arelr 3mepfad
gesdTa (?) T W W@ & I f3arse qut g1 Sfrdr §1 31 fshew ‘€ @@ W Bl

If you see the design clearly and put figure ‘C’ in the place of the question mark (?)

the design gets completed. So choice ‘C’ is the correct answer.

A6 3 0 X ¥

8
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101. | Find the missing number in the |9 & IR s@er A T g HEA H
number series given below:- E,";%Ul
20, 30, 42, ?
(A) 64
(B) 56
(C) 62
(D) 54
102. | Victory is to Joy as __ is to | Victory &1 St T&el Joy & & dgr &eer
Sorrow. Sorrow &T T & gEM?
(A) Defeat
(B) Depression
(C) Loneliness
(D) Cry

103. | Find the missing number that has | 79 & &1 H&AT s@el & Fo U HE&A
same relation to 289 as 13 has to | ® &leU i@l 289 & o€l Heaetr § St
169. 13 &1 169 T &I

169 : 13 : : 289 : ?
(A) 19
(B) 17
) 27
(D) 23

104. | If TRAIN is written as WUDLQ then | 3R TRAIN &I WUDLQ for@r STar & a«
BUS would be written as . BUS &a for@r smwam?

(A) EXU
() DWU
(C) EXV
(D) VXE




105. | If FLOW is related to RIVER then | FLOW & S @«¥l RIVER & § dgr dey
STAGNANT s related to__ . STAGNANT &7 forg & gl
(A) Pool
(B) Rain
(C) Stream
(D) Canal
106. | Choose the word which is least like | 3 2leg T Y ST @Y eal & HAg &
the other words in the group. Hol T6r @I &l
(A) Ladder
(B) Staircase
(C) Bridge
(D) Escalator
107. | If we arrange the given words in|3WR @& 91T eleal & JUTATT & HHA &
alphabetical order, which word would | 38R SEIRT S df @i &1 Asq gE
come at the second place, choose | Tl YT JHTUI?
the correct alternative?
(A) Plane
(B) Plain
(C) Plenty
(D) Player
108. | Choose  the  alternative  that | 719 & 1T Usg 1 Il & @ ST ar

resembles the water image of the
given word below:-

3@ gidfaes GF v Qhedr & fhT &
A e gaml

A1M3b

(1) wi1n3p

(3) VIN3P

(2) wHA3P

(4) VINEP

10




109. | Choose the word which is least like | 38 s & YA S GAR Ueal & g 4
the other words in the group. AT gl @rar gl
(A) Eyes
(B) Ear
(C) Hand
(D) Scarf

110. | Choose the alternative that will | 39 Tdshed &I I ST & & =Y deg
continue the number series below:- | F@el &I o7 &Y |

2! 3! 5! 7, 11, 13 7

z

15
19
17
21

o 0O W
~ ~—~ ~

111. | Which of the following diagram |=fir & st O3 & & Sl a1 &3 g,
indicates the best relation between | ATl AT HART & TFEY A 397 T T
Country, Nepal and India aelTar 87

O

(A) (B) OJO)

(C) @O (D)
OO0

(E)

11




112. | Choose the alternative that will |39 Td%ed & I ST =iy & =0y dea
continue the number series below:- | FGel &I o7 &Y |

5 11, 19, 29, ?, 55

(A) 39
(B) 41
(C) 37
(D) 43
113. | A FISH is to GILLS then a MAN is | FISH &I ST @« GILLS & & Jgr Haer
to . MAN &r fra & gl
(A) Ear
(B) Eye
(C) Lungs
(D) Nose

114. | Which  figure among the five |f@d a0 Q@eal 1, 2, 3, 4 daT 5 § &
alternatives 1, 2, 3, 4 and 5 would | i & 3TH{T ‘D’ A wRAGTIS fIeg '?” &
replace the question mark in figure | €U 9X 3TTIMN?

lDl?

115. | Choose the word which is least like | 3 2sg I AT S X sl & FHg A
the other words in the group. Aol g7 @I gl

(A) Sun

(B) Planets
(C) Stars

(D) Satellites

12




116. | If Maya is the only daughter of | 3PR &I REm $r ey & S5 T SHAI
Richa’s grandmother's brother, how | §&T & A HMAT $r §&r T REr & «Far Rear
is Maya’s daughter related to Richa? | gl

(A) Niece
(B) Cousin
(C) Aunt

(D) Mother

117. |0, P, Q, R, S and T are standing | 3?R Teh s W O, P, Q, R, S 3R T
on a bench according to their height. | 319l e H TFeS & MTAR TS & ‘P,
P is taller than O but shorter than | ‘O’ & T gl W ‘S’ ¥ ©Ier gl {F ‘S,
S. Only S is taller than T. R is [T ¥ #aT g ‘R, ‘P A BT g W Q T
shorter than P but taller than Q.| sl g, dl &9 BICT &G [hddl g7
Who is the shortest?

A) O
(B) Q
C) P
(D) Cannot be said

118. | If 4" means “&’, X’ means ‘-, X TR+ FT e, X FT N e @ W,

means ‘¢’ and ‘- means ‘X, then

what would be the answer of the

& x, for@r ST, a9 S &y R seaere
F 3 FIT gEI?

equation?
16 « 8X6-2+12=2
(A) 22
(B) 24
(C) 23
(D) 20

13




119. | Count the number of triangles ;
| imber A & o R A R o §
present in the given figure. Sl
(A) 16 (B) 17 (C) 18 (D) 19

120. |If DOG is to RABIES then|DOG T St §&% RABIES & § dar deyl
MOSQUITO isto __ ? MOSQUITO &r fve & gl
(A) Plague
(B) Death
(C) Malaria
(D) Sting

121. | It is 3 O’ clock in a watch and it is | 3PR @3r & 3 & &, 3R 3@ g7 10
rotated by 10 degree in a manner | 33 3@ Tg gATT & fAdc §5 & g3
such that if the minute hand points | 3% qd fgem & 3 & & hour g5 &I
towards the North - East, then hour | g5 fone faem & graf?

hand will point towards which
direction?

(A) South

(B) South -West
(C) North-West
(D) South-East

14




122. | LOVE is to HATE then FRIEND is | LOVE @& St §&9 HATE & § 9 deer
to ? FRIEND &1 fohg & giaml
(A)  Trust
(B)  Companion
(C) Enemy
(D)  Despire

123. | If the given alpha-numeric series is | & IS TEAT HWelT & Ife gUUT # && dF
seen in mirror, which alternative | i&& a0 Ashedl & & fohd & TATT grf?

would resemble its mirror image?

ANS43Q12
(1) Amepreotre (2) SroebrcUnA
(3) 2umnaseropee (4) rSwWheAne

124. | Given that A and B are a married | If¢ A 3R B daifgd g&afa &1 X 3k Y
couple. If X and Y are brothers. and | TS § Td ‘X' FT‘A' A5 & AT Y &I B &
X is the brother of A. How is Y | &7 @&a= gI9M?

related to B.

(A) Brother in law
(B) Brother
(C) Cousin
(D) None of these

15




125.

If ‘¢4 means ‘-, means ‘X’;

X
means ‘%’ and ‘%’ means ‘+’, then
what would be the answer of the

AR+ F L, B KK B e AR
Fr 4+ @ AU, a9 &S & R gFaed
FT 3T FAT gHEM?

equation?
15x5 % 10+5-3=72
(A) 95
B) 0
€ -2
(D) 24

ROUGH WORK

16
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